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Type A: Find “the number” 

1. The larger of two numbers is four more than the smaller number. If the sum of the 
numbers is 74, find the numbers. 

 

2. The larger of two numbers is six less than twice the smaller number. If the sum of the 
numbers is 42, find the numbers.  

 

3. The larger of two numbers is seven less than three times the smaller number. If the sum 
of these numbers is 61, find the numbers.  

 
 
 
 
 



Type B: Perimeter of Rectangles **Draw a diagram! 
4. The length of a rectangle is six inches more than its width. If the perimeter of the 

rectangle is 24 inches, find its dimensions. 
 

5. The length of a rectangle is five inches more than four times its width. If the perimeter of 
the rectangle is 90 inches, find its dimensions.  

 

6. The length of a rectangle is three centimeters less than twice its width. If the perimeter 
of the rectangle is 18 centimeters, find its dimensions.  

 
 
 
 
 

 
7. Kirk has $12 less than Jim. If Jim spends half of his money, and Kirk spends none, then Kirk will have 

$2 more than Jim. How much money did they both start with? 
 
 
 
 
 


